
Battery Boxes & Trays
R2 jr. (14" Wide)



Battery Boxes & Trays
R2 jr. (14" Wide)

Item
Number Part Number DescriptionNote

Quantity Per
Package Assembly

1079203 Decal, Warning Pinch Point 1 11
1026032 Washer, Nylon (11/32 x 11/16 x 1/16") 1 22

1086166-NLA NLA - Screw, Hex Head (5/16-18 x 3/4") 1 23
1074133 Washer, Steel (5/16 x 3/4 x 1/16") 1 24
1028769 Locknut (5/16-18) 1 25

1090275-NLA NLA - Tray, Battery with Buckle and Warning Decal 1 16
1086160-NLA NLA - Bracket, Pivot, Black - Right 1 17
1086167-NLA NLA - Battery Tray Assembly 1 18 A
1057941-NLA NLA - Battery Box Top Assembly, Dual w/ Single

Extended Connector,  UI
1 29 B,C

1009268-NLA NLA - Battery Box Bottom Assembly, U1 1 210
1057942-NLA NLA - Battery Box Assembly, Dual w/ Single

Extended Connector, UI
1 211 D

1058520-NLA NLA - Fastener, Panel Snap-In 1 512
1079247 Washer, Flat (21/64 x 53/64 x 7/64") 1 113

1090276-NLA Bracket, Pivot with Warning Decal, Black - Left 1 114
1050161-NLA NLA - Screw, Hex Head w/ Patch (5/16-18 x 1") 1 315

1026158 Locknut (5/16-18) 1 216
1089385 Fuse, MIDI (Non-G/B & G/B) (80 AMP) 1 2C,F

1060318-NLA NLA - Hardware, Battery Terminal, UI Batteries
(Pair)

2 1E,F
A - Includes Items 2-7.  
B - It is recommended that new terminal hardware be ordered when a new battery box top is ordered.  
C - As of 11/05/99 the battery harness fuse changed from a Bussman 60AMP to a MIDI 80AMP fuse.  This battery box top is 

compatible for all chairs manufactured before 11/05/99 and must beordered whenever a replacement Bussman 60AMP 
fuse is requested.   

D - Includes Items 9 and 10.  
E - Hardware includes small battery terminal caps (gray and orange), 1/4-20 x 7/8" hex flange screws, 1/4-20 hex flange nuts, 

cable ties, locking tab washers and instruction sheet for two batteries.   
F - Not Shown.  

NOTE:

 


